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Which rule explains that a ratio of purine and
pyrimidine bases should remain equal in DNA
molecule?

(1) Watson and Crick’s rule

(2) Friedrich Miescher’s rule

(3) Duke and Davidson's rule

(4) Chargaff’s rule

Which of the following disease is caused by
protein deficiency?

(1) Anaemia

(2) Kwashiorkor

(3) Hypothyroidism

(4) All of the above

Name the coenzyme of riboflavin (B2) -

(1) NAD or NADP

(2) FAD and FMN

(3) Coenzyme A

(4) Thiamine pyrophosphate

Which of the following enzyme deficiency leads
to hemolytic anaemia?

(1) Glucokinase

(2) Pyruvate kinase

(3) Phosphoglucomutase

(4) Phosphofructokinase

Which of the following lipid is mostly present in
mitochondrial membrane?

(1) Lecithin

(2) Cephalin

(3) cardiolipin

(4) Ceramide

Operon system consists of -

(1) Operator and structural genes

(@) Operator, regulator, repressor

(3) Promoter and all the above

(4) None of the above

e
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7. Which kind of alteration takes place is lac 7- T[@Ia @ SuRyd ¥ o R e 4
operon in presence of glucose? BT BUIGRYT &IaT 87
(1) Low cAMP level and tetramer formation of (1) 7T cAMP R Td cAMP Tl W &1
cAMP receptor protein A<D S|
(2) High cAMP level and tetramer formation of (2) 9=9 cAMP R Td cAMP UTEl WIS &I
cAMP receptor protein I h femior
(3) Low cAMP level and dimerization of cAMP (3) " cAMP WR Td cAMP U8l WIS &1
receptor protein glaferaRor
(4) High cAMP level and dimerization of cAMP (4) I=9 cAMP WR Td cAMP TTEl WiEH &1
receptor protein gfafera=or
8. 58S rRNA is synthesized by which of the 8 = # 9§ fud gRT 5.85 RaNAa IRTAT.
following enzyme? BT HIINT BT & —
(1) DNA dependent RAN polymerase I (1) ST, G AR lehwn 11
(2) DNA dependent RNA polymerase | (2) ST BT IRTAY. YR |
(3) RNA dependent RNA polymerase | (3) IRTAT. AR ARTAY. GRS |
(4) RNA dependent RNA polymerase il (4) IRTAT. ABRT ARTAL. UARRT I
9.  |sotope used for detection of glycolyticratein 9 TWRUE W dww  Ws frm  #
diagnosis of tumour cells - TARPIECD &Y T XA B 1Y o siar
(1) 32p =
@ *c (0 =p
(2) ¢
(4) 24 4 2y
10. The blue-green algae and bacteria contain - 10. Hi—eRa g vd IFERTT F g §
(1) three linkage group (1) A T wig
(2) two linkage group 2 T foiow wqg
(3) one linkage group @) & filew TE
{4) None of these (4) 574 9 BIg T8l
11. Rate of cellular oxidative phosphorylation is ~ 11- HIR@R sliefiert BRBIRGET 31 v
regulated by - BT & —
{1) NADP/NADPH ratio (1) .yl / W\ Sidigd. U
(2) ATP/ADP + Pi ratio (@) TAA /AL + Q. su
(3) NAD*/NADPH ratio 3 TR/ FUSLETE, S
(4) Oa/H* ratio (4} Oy/H* I
01-V Page 3 0of 32




12. Which one of them is correct combination of 12 37 ¥ a1 FOPRARE TRA B
histone octamer subunits of nucleosome of UM & BN SE 9Y SR B Ghl
eukaryotic chromosome? A 87
(1) H1, H2A, H3, H4 (M g1 TF2A 793,094
(2) H2A, H2B, H3, H4 (2) T3 24, Ug 2B, Y9 3,9 4
(3) H1, H2B, H3, H4 B T91, @28 @3, T4
(4) H1A, H2B, H3, H4 (4) T3 1A, TI 2B, 79 3, U4 4

13. Name the cancer that occurs in connective  13. I STHl | IR S glell $OX Bl & —
tissues - () fowmr
g; Lymphoma ) TRET

Sarcoma
(3) carcinoid @) FriEs
(4) Medulloblastoma (4) ST

14.  What inhibits the E2F activity which is needed 14 398 § @99 E2F &1 3igdled owar &, T
for passage through G1 restriction point in cell BIRGT Th $ GLIRERT g & o &
cycle? forg savas gar 87
(1) RB protein hyperphosphorylation (1) RB UM B ST BICHINGO
(2) RB protein hypophosphorylation {2) RB WM & 9 BIBIR®RO
(3) Cyclin phosphorylation (3) I BRBINER
(4) CDK dephosphorylation {4) cDK FamrRBIR®IoT )

15.  Reserve food material in cyanobacteria is - 15. @A d8Rar # | 9o ueRl gar & —
(1) Proteins (1) WE=
(2) sugar (2) T
(3) Peptidoglycan () TegErAEDT
(4) Glycogen (4) ~asPNE

16.  The mode of nutrition of Rhizopus, yeast and 16 Ysuiivg, e g yARiferas & Qi &1 yoR
penicillium is - BT § —

(1) Parasitic (1) TsiEr
(2) saprophytic (2) sy
{3) symbiotic (3) wssiE)
(4) Autotrophic {4) w=iard)

17.  “Tra’ gene in plasmid is responsible for - 17, wfowne § “fra’ SiF StReERT BT & —
(1) fertility () wiEer
(2) resistance against tetracyclines (2) cgraEfae @ e sioRerear
(3) code for toxicants (3) fawraa uerelt @ forw B
(4) virulence of bacteria (4) STarY I Hehrrerdi
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18. Which of the following occurs as most 18 S ¥ @9 BREIGUS JHRART Bifdd
abundant phospholipid in the eukaryotic cell Breett 4 snf@rew § yrm Sar 87
membrane? (1) BRPERSTEAINCId—4—hEhe
(1) Phosphatidylinositol-4-phosphate (@) wiewicrs R
(2) Phosphatidylcholine " .
(3) Phosphatidylethanclamine () PRI
4 sphingomyelin (4) Reamsfeaa
19.  Hypotonic environment leads to cell towards - 19. FEURME qaERT § W& W) SR § 8
(1) Concentration T ® —
(2) Turgidity (1) g
() e
(@) shrinking @) fgea
20. Which kind of cell concentration occurs in the  20. 27 & Bifgar &3 § SN SISN AYHar
fovea part of retinal visual field? 91§ 9 e
(1) Cones (1) =i
(2) Rods (2) wrerer
(3) Both (1) and (2) 3 ()9 (2)]
{4) None of these @ T ¥ Big B
21. Which one of them is heat tolerable DNA  21- 399 9 99T Al¥ G&-1¥ SIUA.T. GlcimNg &7
polymerase? (1) Pfu
1) pfu (2) vent
(2) vent a
(3) Taq @) Taq
(4) All of the above (@) ST i
22.  Which is the marker binding site for hnRNP i? 22. T 9§ ®i9T hnRNP | 3 forw Rffed &9
(1) 3'splice site I &7
o) ct et (1) 3 e w@
{2) 5'splice site O L ——
(3) AT-GC spliceosome . () AT-GC TAERRINEA
(4} All of the above @) swjw w4
23. Each DNA strand is made up of - 23. YP SIUAY WIS 97 Bial & —
(1) De-oxyribose sugar (1) S—iiRIREIS T
(2) Phosphate unit (2) BIEhe SahE
(3) Nitrogen base (3) TIETIoN RS
(4) All of the above (4) SRITT a4
01-V Page 5 of 32




24. Which secondary messenger signal promotes 2% T ¥ @MWl ff@® doudRE® AASEl
the release of Ca*2 ions from endoplasmic TIfeTBT ¥ Ca*2 ARFI B FRiga &=l @& forg
reticulum? wRa wear 87 :

(1) cAMmP (1) cAMP

(2) cGMP (@) ¢cGMP

@) 1P3 3) 1P3

{4) Diacyl glycerol (4) STE gage FeiRI

25. Which of the following cells have ability to give 25 {571 5 9§ @Y @I o9 IR SikreR
rise to specialised cell types and capable of self- T Pl & Td W—-dMer A & gHdl
renewal? g7 ’

(1) sertoli cells (1) el BIRNGR
(2) stem cells (2) <A DIRGR
(3) Leydig cells (3) ofsT PIREE
(4) Oocytes (4) SuEcH

26. Which of the following are not lymphoid cells? 26. o= § § o forelss SRR T8 87
(1) T-cells (1) SR
(2) B-cells (2 S—aRerR
(3) Natural killer cells () R fFeR SRR
(4) Megakaryocytes (8 FTeRIMETy

27.  Embryonic stem cells are derived from which ~ 27. YUl WA FIRGR TRSINRE & DT 91T
part of blastocyst? X ST 87
(1) Inner cell mass (1) zriaRe SREr g
(2) Ectoderm ) TaersH
(3) Blastocoel (3) TRt
(4) Mesoderm 4 Aoed

28. The first milk colostrum specifically contains - 28. o Y Plargd ¥ AR su | Sar § —
(1) Glucose () T
(2) Anti-infective antibodies () yfo Jome TN
(3) Fats (3) g
(4) Hormones (4) g

29. Which one of the mechanism is followed by 29 T ¥ @l HoREY CeEiRked g
antibiotics? AR STt 27
(1) Alteration of cell membranes (1) DR Breedl § dRads
(2) Inhibition of cell wall synthesis (2) Sif¥rer PRT deeivor &1 aaHes
(3) Inhibition of nucleic acid synthesis (3) Y(Ie 3Pl @ HITYT Bl AGHTT
(4) All of the above (4) S Wi
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30. Which one of the molecular biology method is 30 T & @1l anfda® Siafds &1 Ol 9y
used to compare allele repeats at specific loci AP TR T 97 AW0F FE A Yelia FREa
between two or more samples? H Tged sidl a7
(1) STR (Short Tandem Repeats) (1) STR (Short Tandem Repeats)

(2) ELISA (2) ELISA
(3) RAPD (3) RAPD
(4) RFLP (4) RFLP

31.  Which of the following characteristics of pea 31+ = # ¥ #eX & URY & S & TR BT
plants was not used by Mendel in his SUERT Hed 5 T FAN # WEl fan?
experiments? (1) 9IF &7 <
(1) Seed color @ 4 % B
(?) Seed shape ]

(3) Pod length (3) welr T
(4) Flower position (4 wa o Rafy

32. Genotype of dominant plant can be 32 TNMEI URU & SiAICRY $T FeRe B swar
determined by - T~
(1) Pedigree analysis (1) dunael fzaer
(2) Back cross @ T B
{3) Test cross (3) S Wi
{4) Dihybrid cross @ l@w ksl

33.  Which society published Mendel's finding and 33 & 19 Gzl 71 ficd o @iel §d fazamil
results? BT e e ar?

(1) Natural History Society in Brno (1) eRa F) S, s

(2) Bombay Natural History Society (2) IR “gRa B |

(3) Natural History Society in Russia () “TRe B Jsd, RBr
(9) Natural History Society in USA (4) o o) Arse], JUET

34.  Which one of the following gene controlsmore 34 9 ¥ SIMET SiF U8 & 8@ @&l 9! &
than one character simultaneously? B 99y R AT o=ar 87
(1) Polygene (1) dfelt SiFT
(2) Co-dominant gene (2 Br<iftFc Sk
(3) Multiple gene (3) 9gd <
{4) Pleiotropic gene (4) feagifus SiF

35.  (Cystic fibrosis is - 35. RiRee BRI/ T TaT 87
(1) Sex-linked recessive disorder (1) RfT—ager= sl fder
(2) Autosomal dominant disorder (2) sifcrame yEr f[IaR
(3) Autosomal recessive disorder (3) sifeRime sl f[dPr
(4) Sex-linked dominant disorder (4) eFT—wga = wdl faer
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36.  Theory of linkage was put forward by - 36. el & Ragid faam wega fHar?
1) De Vries (1) 3 9 ‘
{2)  sutton (2) geqa
(3) Bateson & Punnett (3) 9T+ W@ Trie
(4) Morgan (4) =S
37. The number of barr bodies formed ina female ~ 37-  XXXX YR drell A& # IR S B FE=AT
with XXXX chromosomes is - o=t B 87
(1) four (1) TR
(2) three (2) 9=
(3) two @) ar
(4) one 4 s
38. The decreasing length wise arrangement of 38 WHGI UG @ Hed! §8 UGN ST !
homologous chromosomes is known as - g —
(1)} Ratio type (1) 3 <=y
(2} Idiogram () snsieammE
(3) Histochromogram (3) femEu™
{4) Topogram @ <oEm™
39.  Which one of them is cause of MODY (Maturity 39 378 § SIsRIT MODY &I BRI &7
Onset Diabetes of the Young)? (1) sifmie geaE-T
{1) Defective glucokinase (2) egitss @1 SfE
(2) Excess secretion of thyroid o
{3) Insulin defect @) sifFRie Fgfer
(4) Beta cells immunosensitive activity 4) dicT SIRERI o SRENdeT Tfafafy
40. |ndividuals with Turners syndrome inherit 40 <=z RyvgM gt afd # TorgET o Rerfir S
what chromosome? g —
(1) xx (1 xx
(2} Xo (2 xo
(3) xxy (3) Xxy
(4} xxX (@) Xxx
41.  Which one of them is not true forinterferons?  41-  §99 ¥ B9 Sexexia & forg o =87 87
1 o
(1} An antiviral substance (1) T TRy TR ERf
2 i i i .
{2} Chemically glycoproteins and proteins @) TEERE w9 § aEENET v T
3 - - .
{3) Chemically lipopolysaccharide (3) <raraRE W S wE JevEe
4 i -
(4} Molecular weight ranged from 20,000 (4) STfa® TR 20,000-30,000 SIeTe @ HEA
30,000 daltons
01-V Page 8 of 32




42. RAPDisa- 42. JRYAS. Bar g —
(1) DNA sequencing based method (1) STy, s R fafer
(2) Restriction enzyme digestion based (2) SRERE ToTEd e SR R
method ’
(3) PCR based method @) WM. miRe R
(4) Alt of these (4)
43. How much content of human genome invalve  43: Mg SiHM &7 fham ufea WiEmT oifeT §
in coding of proteins? WA BT B¢
(1) 1.1to0 1.5% 1) 1.191.5%
(2) 9.8109.9% (2) 9.899.9%
(3) 59.0t0 59.9% 3) 59.0 9 59.9%
(4) 5.7t05.9% (8) 5.795.9%
44. When the viral genome gets inserted into 44 TIq GRS SIFM SET] TRUNT A AT ST
: bacterial host it is termed as? g, O 99 T e 87
(1) Replication (1) ufcrepfer
(2) Lytic cycle (2) wsic® @
(3) Lysogenic cycle (3) aEENE T
(4) Capsid formation (9) dftas fmfo
45.  pick the odd one out - 45. M fashed B g —
(1) T4 phage (1) d—4 B9
(2) Mu phage () Wy, B
(3) Coliphage (3) Breli—hof
(4) T2 phage (4 €2 vy
46.  Which of the following acts asa licensing factor 46 /=1 # &§ &iar Uladpfd & ol engafgT
for replication? PRE B BT H SR YAl 27
(1) ORC (1) samRL
(2 cdt (2) [
(3) Mmcm () TadiE.
(4) cpcaz (4) diida
47. Which one of the bacteria is not used in 47 TR § Himar iy eng FéE § ygw T
bioleaching process of metals? Bar?
(1) Thiobacillus organoparpus (1) esaRRe™ RS
(2) Thicbacillus ferrooxidans (2) ersEeRee BRRifRIEY
{3) Leptospirillum ferrooxidans (3) TueiRaRferm RIRIST
{4) Lactobacillus cocci @) TRy SIGE
01 - v Page 9 of 32




48. The term used for transformable bacteria is - 48. U B 9Tt Siarpel @ oy ue ugea erar
(1) recipient -~
(2) donor () ey
2 (@) <
(3) competent @) peEe
(4) transformed (@ it
49. The suitable description of bacterial 49- SN URwAY & foQ SugR @rEw § —
transformation is - (1) T o IR
(;) horizont;.al gene 1fransfer . (2) <er: SFEiRe gdEe
(3) auton'.latlc genetlc'reframmg @ e gRiRe
(3 genetic restructuring @) <9 IR
(4) gene transduction
50. puring which phase of mitosis DNA is 50. Wl fJumm & 5w smwen § g
replicated? ufrpir B 87 ‘
(1) Interphase (1) =9
(2) Prophase 2) Hwe
(3) Anaphase () THw
(4 Telophase 4) ST
51. The most primitive eukaryotes belong to the ~ 51. wa® anfew goReica fra 4o & wdfg &
genus - (1) reaifea
g Plasmodium @) g
Tetrahymena
3 aﬁq]gg’mﬂw
(3) Chlamydomonas @)
(49 Giardia (4) foremiEar
52.  What is the chemical constituent of poliovirus? ~ 52. Tifordl IRRY BT EESF Ao F7 87
(1) Positive-stranded RNA (1) FHNHE Ties ANTIT.
(2) Negative-stranded RNA (2) TPRIHH WS IRTAL.
(3) Positive-stranded DNA (3) THRP WiSE SITAT
(4) Negative-stranded DNA (4) TERTHS TS SITET
53 According to the Baltimore System of virus 53 IRRE ¥ MR TERT TF B IFER
classification, group IIi consists of - -l § Sulem & € —
(1) ssRNA genome (1) ssRNASIFM
(2) dsDNA genome (2) dsDNASIHE
(3) dsRNA genome (3) dsRNA S H&
(4) ssDNA genome (4) ssDNATIHH
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54. Which one of the compound is not utilized by 54 8 & ST e e Ao gy
methanogen archaea to obtain energy? ERT Sull JdeT # YT wel fhar W1 amar?
(1) Carbon-di-oxide (1) o9 % RS
(2) Hydrogen () wigsioH
(3) Methanol (3) FerrE
(4) Methane 4 &=

55. The process by which a probe isusedtoscreen 55 9% wfihar e gRT 019 &1 SWINT @ess &7
a library is known as - BT B H a1 @I & hea & —
(1) Hybridisation () sEfsEeEm
(2) southern blotting (@) wes e
(3) Colony hybridization () Fiar TRNEEH
{(4) Western blotting (4) = =iy

56.  Somatic hybridization is achieved through - 56. <few Hewor gra fmar o & —
(1) grafting (1) i
{2 protoplast fusion () v ®EE
(3) conjugation () dg=
(4) recombinant DNA technology (4) ApFe SivTU do-e

57. The distance between two genes is measured ~ 57- 31 WFi & W B gf B AU B TR DA
in units known as - g —
(1) Nanomorgan (1) S—fts
(2) Micromorgan (2) TgHHE
(3 Millimorgan @) A=
(4) Centimorgan @) |¥=5—rE

8.  sangar method for DNA sequencingbasedon- 98- &R & Sty RI@RIT amRy & —
(1) Florescence-based chain  termination (1) TR SRa siEan awiy Ay

method ) e IR ggam
{2) Chemical-based identification @) wuiaRT ericEss  smRg  sfEen
(3) Modified nucleotide-based chain eI fafey
termination method (9 x— smnRa R R

(4} X-ray based sequencing method

5. Which one of the following is not the 59 /= # & o Yidam ([Widmy Segel
component of PCR (Polymerase Chain i) o7 ged wE 87
Reaction)?
(1) Helicase () sfers
(2) Taq polymerase @) Sfehmes
(3 dNTPs @) dnTes
(4) Primers ) s
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60- Which one of them is restriction endonuclease ~ 60- g7 ¥ @FFT BamHl WRgwA Yosd @
categorization of BamHI restriction enzyme? IRTFA (RgTRITT & TifiemRor 87
(1) Typel (1) Tzy| :
(2) Typell (2 <ga
(3) Typelll (3) ez
4) TypelV (4) cgglv
61. Ppolynucleotide kinase of the DNA modifying 61 Swig g o= 91 USEdAT  &f
enzymes catalyzes the transfer of - TfRcss BRIy [FHd R $BI
(1) phosphate from ADP to the 3' end of DNA IR F=awm 57
(2) phosphate from ATP to 5' end of DNA L ClivIEE%E & LS 9 AEL P IR W
@ ' () Bivpe & LAR § ST D 5' R W
phosphate from AMP to 5' end of DNA @) e o1 TEWd ¥ LT D 5 RY W
(4) phosphate from Pi to 3' end of DNA (4) Bitse o TaE. I AT S 3 RN W
62. Correct combination of polymerase enzymes 62 ¢DNA @Sl AT & Wy dfelrsy ¢angHi
used in ¢DNA library construction is - &1 FE Ao § —
(1) DNA dependent RNA polymerase and DNA (1) Slgay. B IRYAY. UleiRe 19
dependent RNA polymerase SLGAY. AT IR, Uieiang
(2) RNA dependent DNA polymerase and DNA (2 IRTY. AOfa YAy dee g
dependent RNA polymerase BLTY. A RGN, Gl
(3) RNA dependent RNA polymerase and DNA () IRTAL. MG JRTAL. UleimRs T§
dependent DNA polymerase SITAY. AT SLTHY. GleliNe
(4) RNA dependent DNA polymerase and DNA (4) RYAL A SITAY. Uleirng U@
dependent DNA polymerase BTN, NPT ST GRS
63. Reporter probe used for screening in RT-PCR 63 IR —dishiaR # ugs Ruidk 99 gar &—
are -
(1) Radioactive DNA probe (1) YAl ST 99
(2) Florescent DNA probe (2) weide STAT. e
(3) Radioactive antibody probe @) el R da
{4) Florescent antibody probe (@) weifvde ¢EErST 9
64. Screening method for transformed bacteriaby 64 RGBT WA &1 ao—gs W9 gRT WG
LacZ gene is based on - TR BT AR § —
(1) Insertional activation (1) o=l <fpaar
(2 Inversional deactivation () gorolig feafhaar
(3) Insertional inactivation @) fash Mfseaar
(4) Transversional activation (4) Iyl ishaT
01-V Page 12 of 32
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65. The term ‘in vitro’ is the Latin word which  65-

refersto -

(1) within the lab
(2) within the glass
(3) Outside the lab
(4) Outside the glass

66. Which of the following is a suitable vector for ~ 86

the process of cloning in Human Genome
Project (HGP)?
(1) PAC {Protozoal Artificial Chromosome)

(2) FAC (Fungal Artificial Chromosome)
(3) VAC (Viral Artificial Chromosome)
(4) YAC (Yeast Artificial Chromosome)

67. Basic tools of genetic regulation are the ability ~ 67

of some proteins to bind to specific -
(1) Regulatory DNA sequences

(2) Regulatory RNA sequences

(3) Enzymes of cells

(4) Promoter portions of genes

68. Macrophage cells are developed from which 68

type of cell lineage?

(1) Myeloid progenitors

(2) Lymphoid progenitors

(3) Erythroid progenitors

(4) Megakaryocyte progenitors
69. |mmune cell that is

lymphocyte -

(1) Neutrophil

(2 T-Cell

(3) B-cell

(4) Natural killer cell

leucocyte but not €S-

T fAgr 1@ ofen 3= ® e 9aee & —
(1) <9 & dR

(2 g © 9N

(3) A P TN

(4) i B AR

A oMM doEe (QESidn) § aoisT @l
UishaT ¥ Ga9 SUZdT ek Il BT 87
(1) il @cser bR HHEEE)
(2 TR (e SR Hram)

@) Ao (arRe SHEBRmE HRm)

(@) aE.uE. @Re B Rue ENm)

AT P & o SUSRYT §B HeH! a1
foa falre & <R 89 2 emmar &7

(1) Vel Sigag. gaar

(2) Wee AIRYAR. S

@) FRERT & T

(4) =T ST YHIeY 91

dope PIRGRI B Y 59 TeR &
PR & d F S 82

(1) wEaEs dafes

(2 Rrmigs Hisifiey

@) tReligs deifrex

® FmHRaiTEe Ufes

ThRel PR ST goNRe & U9y
ferprage 6l & —

) =fva

) T-PifRrsT

(3) g-®I¥wHT

(4) R TFer D@
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70.

Which one of the following is an antigen  70-
presenting cell?

(1 T-Iymphocyte

1 # | DAl ufos TR BT 87
(1) & RrerEe

2 & ferpraEe
(2) B lymphacyte .
@) %, FIRTN
(3) NKcells
(4) Eosinophil (4) genRmfe
7. Out of the following which is not categorized ~ 71- /=1 & ¥ s fefius foFeigs v w7 87
under secondary lymphoid organ? (1) et
(1) Spleen
@ (2) ergHy
Thymus
- () forrw ~iIg™
Lymph nodes . .
@) goe—<da farhigs Saw
(4) Mucosal-associated lymphoid tissue
72. Mesosomes are derived from which structure? 72 HiSIRIFg BT S b G § gaT 87
(1) Plasmid (1) wfse
(2) cell wall (2) SRR ARy
(3) Ribosome () EENE
(4) Cell membrane (4) =¥ B
73. In the fungal Cclassification system, 73- HaP iR YU ¥ TSHMERIEN 39
ascomyecetes come under the division of - THRT A ST 87
(1) Gymnomycota (1) gD
(2) Mastigomycota (2 IRcERDEr
(3) Amastigomycota (3) TAfRenEAESIeT
(4) {A)and (B) both @) (A)T (B)TMI
74.  Cellsinvolved in Hybridoma technologyusedto 74 &3S/ de+ier 9 AFGaa yiell a9 3
generate monoclonal antibodies are - EREN B Al B ]. %._
(1) guidy & SIRIHT W6 SR o BIRIST
(1) Effector T cell and cancerous plasma cell )
(2) et F HIRET TG AT BITDT
(2) effector B cell and myeloma cell .
() wfeoe UxAieRY BIRGT T AEAE
(3) Antigen presenting cell and myeloma cell
BRI
(9) Naive B cell and myeloma cell .
@) T 9 SRS & AT IR
01-V Page 14 of 32
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75.  select the correct combination of interactions 75

and forces
interactions -

(1) Hydrophobic interaction, hydrogen bonds,

during antigen antibody

cavalent interactioh and electrostatic force
(2) Hydrophobic interaction, hydrogen bonds,

Van der Waals force and electrostatic force
(3) Hydrophobic interaction, hydrogen bonds,

disulphide bonds and electrostatic force
(4) Hydrophobic interaction, hydrogen bonds,

co-ordianate bonds and electrostatic forces

76.  Which types of antigens and type of T-cells are  76-

represented by MHC class Il molecules?

(1) Exogenous antigen to CD 8* T cell
(2) Exogenous antigen to CD 4* T cell
(3) Endogenous antigen to CD 8* T cell

(4) Endogenous antigen to CD 4* T cell

77. Which one of the protein transporters present ~ 77-

in ER (Endoplasmic reticulum) involve during
the endogenous processing of antigen?

(1) TAP

(2) TIMTOM

(3) Tapasin

4 Calreticulin

78.  The viral nucleocapsid is the combination of - 78.

(1) Genome & capsid
(2) capsid & spikes
(3) Envelope & capsid

(4) Capsomere & genome

TS —JIIRel SFRfskar + Tgad 819 qrel Jat
BT T GIleT —
(1) EERBIR® mREPW, TEseH 9,

eI ARAPAT U4 SadRiee® o
@) TEswilde mRfbT, sEgoH 9y,
@) TESPING  IRGHA,  TESOM 9,

SEACPES ot T4 FeaEReCD q
(4) EERBINE R, EESieM S,

BRiifETe 9 14 sameed o
L w1 ERT 5 T6R & gfiee
9 T-SifRwRl o yelkia fear o 87

(1) FiEsita uRke & CD 8+ &1 ST

() sfE=ita ufdeE 9 CD 4+ & il

@) sigsia giee = ¥ CD 8* € IR

@) sigsia ufe 4 €D 4+ & BT
BN GIEH gRUCT o sl ShforeT #
TRIT S 2, Uiier @GR wshd # wifie
BT 87

(1) SigAn

() S, i,

(3) A=

@) serfeagler

TRRe gReedias fr § ¥ Rraer e
BT 87

(1) <iFM U9 $itag

@ ditgs (g wsaq

(3) viae g Hixs

(@) HeErRR U SiEF

01-V¥
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79.

80.

81.

82,

Which term is used for type lll hypersensitivity?  79-

(1) Ige-Mediated Hypersensitivity

(2) 1gG-Mediated Cytotoxic Hypersensitivity
(3) Cell-Mediated Hypersensitivity

Mediated

(4) Immune Complex -

Hypersensitivity

Hormone produced by pituitary gland that  80.

interact directly to target cell to produce the
final effect -

(1) Thyroid stimulating hormone

(@ Prolactin

(3) Adrenocorticotropic hormone

(4) Antidiuretic hormone

Which one of the following describes the linear ~ 81-

relationship between the concentration and
the absorbance of the solution?

(1) The Beer — Lambert’s law

(2) Bergmann’s rule

(3) Ernst Haeckel’s biogenetic law

(4) Cope Edward rule

Which one of the chromatography procedures 82

include ligand immobilized to matrix?
(1) Catalytic chromatography

(2) Affinity chromatography

(3) lon exchange chromatography

(4) Gas chromatography

P U €Y N S Halkdr & fow wge

BraT 87

(1) 1gE Wity S=a wafdar

@ 1g6 wiltTq PR fAuEm gwm S=
wHafear

(3) IR Fiftaa = wafdar

(4) TR Sfs—itog S dafkar

Uy i 9 SofeT sME o AR e ST
¥ ST B SIS W 9T 87
(1) oERizs Sivla gAE

(2) "rifdes
@) wENmIdegite eHH
(4) EresqRies &N

3 § BN (O Higar Ud SaEN & YWy
T BT AT 87

(1) drR—aee &1 |

(2) T8 &1 fAaE

(3) T=E BB DI Slgae=T BT g9

(4) 3 TEas &1 FraH

Pl DTS § A B Ty <diie @l
A 3rEd 99T W 87

(1) deRicd DRSS!

(2) <egaT HHSHTEH

(3) = uRacs HESHTH

(4) A9 HRSHTS

83.  Which of the following is known as Mitoplast? ~ 83. {5 3 ¥ {59 HIscIwIRe @&l Wiar &2
(1) Mitochondria without outer membrane (1) 31 9159 ool 31 AsSiPiivgar
(2) Another name for mitochondria (2) wREISigar &1 gET 9
(3) Mitochondria without membrane (3) =1 fBreeh &1 TESIBiRean
(4) Mitochondria without inner membrance (4) 1411 STiaR® fereel @ Ageidigar
01-V Page 16 of 32
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84. The membrane around the vacuole is known 84 RfdgeT & IRi 3R & Rl Fary & —
as - (1) R
(1) Tonoplast @) semEiETe
(2) Elaioplast s
(3) Cytoplast @) HrEcr
(4) Amyloplast (8) TSRS
85. Microfilaments are composed of a protein 85 WAEFHIfham<ad R WM & ¥ 81 %,
called- HEA & —
(1) Tubulin () <gfem
(2) Actin @) thes
(3) Myosin @3) TR
86. Which one of the wave represent the atrial 86. H=ll 99 Infors RuieREwsT & <ziiar 87
depolarization? () s
(1) s-wave
(@ pag
(2) p-wave
@ adg
(3) a-wave
(CY I
(4) T-wave
87. Which one of the metal is used in specimen  87- SEM &T T[T GIR &R 4, TN Bl DI B
preparation of SEM to coat specimen? o forg f&a a1g &1 ST f&ar iar 87
(1) Silver (1) =y
(2) Lead citrate (2 o uEge
(3) Gold (3) |FT
(4) Uranyl acetate (4) Pfrer veice
88. Variance and standard deviation are relatedto ~ 88- TaRgaT w9 Ao 9o & TN 9 39 WRE
each other as - HiRg § —
(1) Variance is positive square root of standard
deviati P a (1) fafeen, aFe aes @1 9eRwe T
eviation s
{2) variance is square of standard deviation
. > . () fafqean, AFe REew o o &
(3 variance is negative square root of - i
e @) fafdear, 99 Reaw &1 oREe T
standard deviation
(4) variance is inversely proportional to 4 & N N
standard deviation @ , AP 13T dopHT] el
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89. Which one of them is used as embedding 89 BT SoigRlY AEHRDY & WRHAT & G
medium for election microscopy specimens? gR$ AT &7
(1) Epoxy Resin (1) ot W=
(@) celloidin (2) Tggem
(3) Polyethylene glycol (3) dichizasaie Tasdid
(4) All of the above (4) i
90. Which one the following statistical method is ~ 90- g9 & 9l WiRAG YS IRSGT @
used for checking the level of significance of & D WK Pl WAigT 3 UgEd Bl o7
hypothesis? (1) F1E IR FeEv
1 -
(1) Chisquare test @ R
(2) standard deviation
3) fafdema
(®) variance @
(4) sampling error test (4) gfrere Ffe e
91. French scientist Edmond Locard formulated 91- WiRiRN dsmive wedls dide o 9 Rigia
the following basic principle - g foar —
(1) Principle of comparison (1) gern &1 Ragia
(2) principle of exchange (2) sreF—vge™ & Ngia (&)
(3) Principle of analysis (3) faayer &1 RGN
(4) Principle of progressive development (4) yufashia aRaas &1 figia
92. The “Chemical Examiner” laboratory was 920 4R # “@®fied WaiteR" WFETET @
established in India in Calcutta in the following RIIAT FADT 4 7 a8 § 31 78 —
year - (1) 1849
1
1849 @ 1853
(2) 1853
3
(3) 1864 (3) 1864
(4) 1870 (4) 1870
01-V Page 18 of 32
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93.

There are seven central forensic laboratoriesin ~ 93-
india -

qRay ¥ 9 e A e sEeEmed
&

(1) Hyderabad, Kolkata, Chandigarh, Bhapal, (1) BEE, SoHM, IOEEe, WU,
New Delhi, Guwahati and Pune ws—{aeet], MaERE @ gur

(2) Hyderabad, Chennai, Kolkata, Chandigarh, (2) TG, T~18, PiolFHIal, IVSNTS, WU,
Bhopal, New Delhi and Pune T—faeell vd gor

(3) Hyderabad, Kolkata, Chandigarh, Sagar, (3) YeVEIE, HiadEl, TUENE, ¥R,
New Delhi, Guwahati and Mumbai TE—faeetl, AR W@ T

(4) Hyderabad, Chennai, Kolkata, Chandigarh, () SREE, T=E, PG, GUSHIS,
New Delhi, Guwahati and Pune T faoedl, aEel & gu

94. \What does the term “forensic” mean? 84. 'pRRYF” W& | /T GRIY 87
(1) Pertaining to crime (1) TR & e
(2) Pertaining to law () srF @ defa
(3) Pertaining to death @) g | wdR¥T
() Pertaining to pharmacology (4) Nl Rgm @ H6fa

95. Basic functions of a forensic scientist 95 AR R Ry & g= o1 = € —
includes - ] _ _
(1) Proper collection of physical evidence, (1) =ifcie el o1 i wWoEw, e e

analysis of physical evidence and providing %! fazaiyor qon [Ages TaEE &
expert testimony @) HRe Grd B SR SIS Tl SR
(2) Proper collection of physical evidence and
investigating the crime BT AT B
(3) Analysis of physical evidence and (3) Hifos ARl BT AT qT FWRE @1
investigating the crime STIYYT BT
(49) Proper collection of physical evidence and 4) 4ifes eyl o1 Sfka duse oo 9iks
analysis of physical evidence with advice to ] BT Ayl & TRl - ®f Idis
the court LS1)

96. The Directorate of Forensic Science Services 96- Ty Rz a1 Mwe™w @itevaww) &
(DFSS) was created in the following year by g e oad § ee alR@Eer 9
Gazette notification No. 25011/41/2001- 25011/41/2001-GPA.II/PM-Il T8 AT ERT
GPA.II/PM-Il issued by MHA - H T —

(1) 2000 (1) 2000

(2) 2001 (@ 2001

(3) 2002 (3) 2002

(4 2004 (4) 2004
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97.

Forensic Science 97

R g F = el | e [ g

The following regional
laboratories are established in Rajasthan - TONTINETY N & —
(1) Jaipur, Jodhpur, Udaipur, Bikaner, Ajmer (1) SR, SMR, SCAYR, SI6FN, 3R g
and Kota PlcT
(2) Jaipur, Jodhpur, Jaisalmer, Udaipur, (2) SUgR, SRQE, SR, SAYY, SIGFR T
Bikaner and Ajmer IR
(3) lodhpur, Udaipur, Kota, Bharatpur, Bikaner (3) SR, SEYGR, PIl, WRAYE, SIBFR G
and Ajmer TR
(9 Jodhpur, Jaisalmer, Udaipur, Barmer, (4) SR, SR, ST, AR, SIHFR 9
Bikaner and Ajmer SR
98. Match List—Iwith List—lland select the correct 98- <&l — 1 &1 &A1 — Il 3 e & aor Rt
answer by using the code given below the % A offda e 4 ¥ il wwR o —
lists — T — |
List—1 (1) Sf. Bl AvSTR
(1) Dr. Karl Landsteiner (2) WIRMN Mee
(2) Francis Galton (3) TEE T, IAEN
{3) AlbertS. Osborn (4) Bfeaw TS
{4) Calvin Goddard @ - 1l
List—11 (a) wore wegor & fgia .
(a) Principles of document examination (b) FRRTT ASHRBIT ENT SIS BT
(b) Firearms examination using comparison T
microscope
(c) ABO blood group system (c) T, ¥ wE RreeH
(d) Identification by fingerprints (d) STeil=rE @ TgaE
Code - B —
(1) 1-(c), 2-(d), 3-(a), 4-(b) ° () 1-(0), 2-(d), 3-(a), 4-(b)
(@) 1-(c), 2-(a), 3-(d), 4-(b) @) 1-(c), 2-(a), 3-(d), 4-(b)
) 1-4c), 2-{b), 3-(a), 4-(d) (3) 1-(c), 2-(b), 3-{a), 2-(d)
(4) 1-(d), 2-(a), 3-(b}, 4-(c) @) 1-(d), 2-(a), 3-(b}, 4-(c)
99. A system of personal identification using a 99 AT UTEN g TNIRG fARware! W menRa
series of body measurements was first devised ugfa wawnem A 7 ueE B —
by - (1) Wik Teeq
(1) Francis Galton (2) Yoy afidaq
(2) Alphonse Bertillon @3) fa we
(3) Leone Lattes .
(4) Hans Gross @) =iw U
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101.

102.

100. The following term encompasses all objects

that can establish whether a crime has been
committed or can link a crime and its victim or
perpetrator -

(1) Legal evidence

(2) Physical evidence

(3) Criminal evidence

(4) Medical scientific evidence

Which of the following is not a physical
evidence?

(1) Fibres/ fibers

(@ Hair

(3 Impressions

(4) Dying declaration

Evidence that can be traced to a common
source with an extremely high level of
probability is said to posses the following -

(1) Class characteristic

(2) Individual characteristics

(3) Identical characteristics

(4) Comparison characteristics

103. The search for physical evidence at a crime

scene must be as follows -

(1) Systematic and thorough

100.

101.

102.

103.

a1g A Terf /9% 9 BRT TR & 89
3! g far s 9o e s gRT SuRm
T GifeaT a1 eREl § e o7 Rig T o
s, fe e §fARa & -

(1) & ey

2 +ifds

() yfes |ry

(@) #fEwer Tsnive wey

=1 4 9 7 difte arg T8 82
(1) ¥

(2) sret

) BsM

(4) JgFIers HoUA

g et UeeH @ 8 S 9% 95 W
B AT IR P T AhAl &, F e AR
B § —

ORCURENEGHY

@ Fafae fadman

(3) gar RaRwa]

(4) gerTeTe fredivay

TSR W Wifcrs WEd o Joel e oy
ST ey —

(1) =aRerd v favga

(2) Controlled (2 R
y (3) Random @) st
(4) Disorganized @) So=diE
104. ydentification of hair and blood are examples 104 gIel Td Yo & UgaE 97 & S & —
Ef) (1) Safe Rewarg
Individual characteristics
0 .
(2) Class characteristics @ =i E
(3) Comparison characteristics (3) gerirewes fagaTd
(4) Rare characteristics (4) gora Rewang
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105. According to mathematical calculation by
Victor Balthazard, the probability of two
individuals having the same fingerprints is one

105.

figeR Seurars @ TRRI UM & STER
g B & —

out of -
(1 1x10% (1) 1x10%
(@ 1x10%° () 1x10%°
() 1x10%° (3) 1x108%
(@) 1x1070 4 1x10™
108. Ultraviolet light is used to find following bodily ~ 106. WRidw=it Wevrer &1 W&@FT /9 wifde w9 &Y
fluids that fluoresce- gkl € &1 ysam &g far <imm & —
(1) saliva and semen () R & 9
(2 Semen and blood (2) 9 v v
(3) Blood and saliva (3) YR Td @R
(4) semen and urine @) 9 v 7=
107. Following is the example of fixed evidence - 107. o= argel <7Ed &7 SaTexvl & —
(1) Hair (1) €1
(2 Fibre () =
(3) Soil @) s
(4) Blood stains on the road (4) T 3T 9997 9% R
108. physical evidence is not extremely useful in 108 %% g =1 STmeN! 39 § S/U=T TR
providing the following information - TE § —
(1) To established that a particular crime has (1) @7 wifdg &= 4 & RAdee an feg
actually taken place gl
(2) Can exonerate the culprit (2) aRef B I BN A
(3) ‘Modus operandi’ of the crime (3) HIgH IR IURET HT WA
(4) Provide direction of the investigation (4) a=yuor Y fReEm g9
109. “Facts do not lie, men and do” is related tothe 109 “Ge o 718! Iia |, TOY $X 9 & iR
following - T B e ddftig & —
(1) Law of comparison () gorn o1 frm / Rigla
(2) Law of progressive change (2) werioeiier aRaas &1 Fam
(3) Law of probability (8) HHrear & ™
(4) Law of circumstantial facts (4) aRRuftery Tedi &1 s
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110.

1.

112,

113,

114.

In the following method, the search for physical
evidence starts from the centre to periphery
along the radii -

(1) Grid methed

(2) Cross hatch method '

(3) Zonal method

(4} Wheel method

It is important to collect possibly the following
of trace evidence in addition to the more
obvious items -

(1) stains

(@ Carriers

(3) Groups

(4) Records

Which one of the following is not a part of
mobile Forensic Science laboratory?

(1) Blood detection kit

(2) Fingerprint kit

(3) Gunshot residue detection kit

(4) Human Identification Kit (HID}

A wet bloody shirt should be -
(1) Packed as soon as possible
(2) Air-dried prior to packing
(3) Air-dried and not packed
(@) Dried with heat

Sketches are helpful for the following —

(1) Sketches are substitute for photographs

(2) Refresh the memory of the witnesses

(3) Refresh the memory of the investigating
officer

(4) Provide permanent record of movement of
the culprit

Select the correct answer -

(1) (1), (2) and (3)

(2 {2), (3) and (4)

(3) (1), (3) and (4)

@) (1), (2), (3) and {(4)

110.

111

112,

113.

114.

Wide arm @1 @ &, fe R A o= 9
RE B AR BT & IFuR €I A &Y
S —

(1) frs fafr

(2) wiw = A

(3) =i Al

(4 = faler

- g AEWS el & & vy aegell & iR

o9 Oga @ T @y dufda fear g —
() gsi

(2) arew

(@ wEl
(4) afirora

=1 # § 7 Aisd BREGE 9iEN deRes)
&1 faeqr wE) 87

(1) a0 feeemm fpe

(@) et fpe

(3) 7 Tife wirey e

(4) T AEs<Ihae e (TaamE )
At g <@ g o & g e
=Ry —

(1) gopret Yo B =Ry

(2) 591 # gEHR Yo FH AIMRY

@ zTaT%qﬁ qa@ =ity g U =8 B

(@) w1 9§ garT @y

g fraa Suant 8k € —

(1) 9 BIEUTE @ [dbed B &

(2) TaTR! @ TR BT qOeT S 8

(3) i T BN B R H qon B E
(4) IREl & TEdHe &1 wE RafE g §
A TR 9qIg —

) (1), (2} & (3)

@) (2),3) % (4)

@) (1), 8)Td (4)

) (1),(2), (3) w4 (4)

01-V
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115, Following is not an example of photography of
crime in action -
(1) Spying
(2) Taking of bribe
(3) Dead body
(4) Beating a person

116. The following sequence are required in the
process for chain of custody —
(1) Seized evidence be labelled
(2) Proper packaging
(3) Transportation to laboratory
{4) Forwarding letter
Choose the correct sequence -
(1) (1), (2), (3) and (4)

(2 (2), (1), (4) and (3)
(3 (2), (1), (3)and (4)
(4) (1), (2), (4) and (3)

All evidence should be forwarded to lab only in
sealed condition with sample seal. This
protects the physical evidence from the
following -
(1) From deterioration
(2) From damage
{3) From contamination
4) From tampering
Match List-1 with List-1l and select the correct
answer by using the code given below —
List—1
(A) Sketching
{B) Collection
{C) Investigation kit
(D) Preservation
List—1Ii
{i) Portable fuming chamber
{ii) Contamination
{iii) Co-ordinate method
(iv) Vacuuming
Code -
(1) A-{iii), B-{i), C-(iv), D-{(ii)

{2) A-(iii), B-(iv), C-(i), D-{ii)
(3) A-(i), B-(iv), C-(ii), D-(iii)

-

117.

118.

(@) A-(iii), B-(iv), C-(ii), D-(i)

115,

116.

117.

118.

1 8 S @ TR R @ BICHTeT BT
ISIETT & 87

(1) SR S g9

(2) Reaa o g

(3) P BT INKN

(4) 5o =i 1 died g%

%%agqs BXcS! B uiear § fF w9 ifta
(1) T ga DI dlda fbar Sy

(2) Sugad GibT

(3) wnTEEn ¥ gRaed

{4) 39T U

e T gag —

(1) (1), (2), (3) ¥d (4)

) (2), (1), (4) T (3)

@) (2), (1), (3) T4 (4)

) (1), (2), (4)Td (3)

T AR B dles /HAieNEs @l H g
YA Al ST 916y 7 A6t & 97|
o9 iRt T e gRiga < © —
(1) ¥RE 8 ¥

@ e ¥

& RIS

@ R @

T — | &1 g — 1l | Pam e aur gRe

% i 3ifea o # 4 9L SR ford —
@ - |

(A) ST ST

(B) Edhad

(C) 3rgeeIr fbe

(D) Hwr
g —

(i) e T awR

(i) 3T B &

(i) et fafer

(iv) Fafdigor

azrd —_—

(1) A-{iii), B-(i), C-(iv), D-(ii)

(2) A-{iii), B-(iv), C-(i), D-{ii)
(3) A-(i), B-(iv), C-(ii), D-(iii)
(8) A-(iii), B-(iv}, C-(ii), D-(i)
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118.

120.

121.

122,

123.

124.

The lens nearest to the eye is called the -
(1) Ocular

(2) Objective
(@) Condenser
(4) Detector

An eyepiece lens of 10x in combination with an
objective lens of 20x will have total
magnification power of -

(1) 20x

(2) 100x

(3 200x

(4) 400x

SEM is the following type of microscope -

(1) Screening Electron Microscope

(2) Scanning Electron Microscope
(3) Simple Electron Microscope
(4) Stereo Electron Microscope

The magnification of oil immersion lens is as
follows -
(1) 20x
(2) 40x
(3) 100x
(4) 200x

The following microscope has the advantage of
presenting a three dimensional image of an
object -

(1) The compound microscope

(2) The comparison microscope

(3) The stereo microscope

(4) The polarizing microscope

A stain can presumptively be identified as
blood by the -

(1) Amelogenin test

(2) Kastie-Meyer test

(3) Acid phosphatase test

(4) Amylase test

119.

120.

121.

122.

123.

124.

A

() @

(2) ARgTas
(3) H==R
(4) =

i 10x B AE@T & ARI 20x B INGHS BT
TR 5 9T ], O g e e e
e § -

(1) 20x

(2 100x

(3) 200x

(4) 400x

SEM (THE.G) i 9oR &7 Asdiaid s
3

(1) BT FeaRiT ARHB

(2) T e AEBIDGIT

(3) Rrud Solecle TIShiRhIY

(4) AR gATEH TPEPIT

U st o9 &7 streEs e S —

(1) 20x

(2) 40x
(3) 100x

(4) 200x

1 el @ TR 9 O S ShY U
BN BT o Bl & —

(1) Fe< el

(2) TR geAael

@) TR gemes

4) dreREINT e

5 v © o9 o IR 9gEe A g
B S GHAl & —

(1) THiif=e e

(2) BTT—IT TeTT

() RIS BBy TREmT

() vHIgers wE
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125.

126.

127.

128.

129.

130.

Which of the following may be used in the
dark?

(1) Kastle — Mevyer test

(2) 1MG test
(3) Teichmann test
(4) Lumino! test

Blood is composed of -

(1) 55 percent plasma and 45 percent cells
(2) 52 percent plasma and 48 percent cells
(3) 46 percent plasma and 54 percent cells
(4) 48 percent plasma and 52 percent cells

Which of the following blood group is universal
recipient?

(M A

(@ B

(3 AB

4 o

Which of the following is used to test for the
presence of semen?

(1) Acid phosphatase

(2 Fluorescein

(3 T™MB

(4) Luminol

Spermatozoa can be present -
(1) In cases of oligospermia

(2} In cases of aspermia

(3) When a suspect uses a birth control tool

{4) When evidence is collected by a sexual
assault kit

Which of the following reacts with phadebas

reagent?

(1) Human salivary amylase

(2) Human pancreatic amylase

(3) Plant amylase

(4) Bacterial amylase

125

126.

127.

128.

129.

130.

- o A S e SR § uaRT e s wdar
a7

(1) dua — FGR &

() TAgE S TRE

(3) Erpar TR

(@) wgfoETer gRer

& BT gq dEed § —

(1) 55 HierEe <TSHT 945 Hio=i SiRieT iy
(2) 52 uforer ITeAT 948 UiEE SR 19
(3) 46 TfA=Ia oAl 954 ViR BT 303
(4) 48 U <ITSAT 952 Ui SiftreT 3w
WIUTET P ¥aq 49 87

(1) A

(2) B

(3) AB

@ o

e A4 9 feaer v 9 @ suRafa @

TEgeT B b oI 87

(1) TRrs wivhed

(2) wERRE

@) gL

(4) <gfeieT

ZEPTY] UTY o O § —

(1) shfermeafiar Rafa &

(2) wffar Rafa A

(3) w19 wfee 9f oo T BT WRNT HE
]

®) S¥ Ty o deed AR e &
T féar wrar &

e # 9 oF e affeRe O b San
8?

(1) A9 IR THISeld]

(2) AT FRE R

(3) UeT THRAT

@) IFERTS TS

01
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131. Following is not included in the preparation of ~ 131- 7= T/@RIFT JFHE &I IR & TR
Takayama reagent - &l g -
(1) Sodium hydroxide () afeaw sssiwEs
(2) Saturated solution of glucose @) e F Egw =i
(3) Pyridine (@) R<SH
(4) Zinc dust 4 i® urgs}
182. The following method is used to determine 132 &g @t wnfa & fFEfor &g 7= RFY o1 wE
species of origin - v ST @ —
(1) Absorption elution (1) sE=iNeT e &
(2) Mixed agglutination () At aEs Ry
(3) Absorption inhibition (3) rgeimer Gea fafer
() Cross over electrophoresis (4) IR feR[aeeT HaTe
133. A forensic scientist thinks a stain is a bodily 133 & R R R¥ns & gOR & o=
fluid. He tests the stain by placing it in a mixture ARING 19 81 98 59 s BT TRel0 AR
of iodine and starch. What body fluid is he T4 w3 B # Yo 21 98 o9 IRIRe
testing for? B BT GOET B XET 87
(1) Blood (1) <
(2) semen (2) 9
(3) saliva ) aR
(4) Urine @ 7=
134. The vaginal secretion consists of followingtype 134 T Taur d§ 9 uesr & wielifema
of epithelial cells - BHIRIER IS T § —
(1) Squamous cells (1) =g Sil¥en
(2) cuboidal cells @) TR PR
(3) Columnar cells (3) ®RTPR BIRGY
: (4) Pseudostratified cells (4) ErRRAIEES HIfRreN
135. Creatinine occurs in urine as follows - 135. 3 ¥ fopufem fFrmgq Sar & —
. (1) 15 ¥ 30 Felom/fom oiRe T/
(1) 15 to 30 mg/ kg body weight/ day ghifes
2 o /e aRiRs g
(2) 15 to 25 mg/ kg body weight/ day @ 15 % 25 / /
gfafes
(3) 20-to 30 mg/ kg body weight/ day ®) 20 9 30 P/ W TERE TOT/
BIGIES]
(4) 25 to 30 mg/ kg body weight/ day 4 25 3 30 e /o wiRe aoF/
gfafe
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136. The examination of sweat stains is usually 136 RN & o= © W ¥ 9= &1 w1 =0
required to determine - ST T & —
(1) Environment heat (1) IIaTgRY J9EE -
(2) Environment humidity (2) araTERer smEdr
(3) Species determination (3) wfy e
(4) Blood group (4) a9
137. ABO grouping is based on - 137. gt el gitT = o smaifa § —
(1) Red cell enzyme (1) a1e Yad ST TaiIsH
(2) Red cell surface antigen (2) et PR TaE Ufie= )
(3) Plasma proteins () < die
(9) Nuclear chromatin (4) iR ke
138. |f the phenotypes of parents is B and AB, then 138 uf& wrar — fiar @& wi=icigy B g2 AB €, dl
following are the possible phenotypes in the ABO Toew # s=ai & Gwifidg wMiesy =
children in ABO system - B —
(1) A, B,0and AB (1) g, &1, 3ir T T4l
(2) A,Band AB (@ ¢ < For ¢l
(3) Band AB (3) €1 rorr Al
(4 AandB (4) T g @Y
138. The complementary base pairs among four 132 IR Yfdrics (A, T,6,0) 3 [ IHR S
nuclectides {A, T, G, C) are as follows - for1aa @0 € —
(1M A=GandT=C (1 A=GwT=C
(2 A=CandG=T (2 A=CcTEG=T
() A=TandG=cC B A=TTdG=C
@ A=TandG=C 4 A=TUdG=C
140. Which of the following antigen(s) does a type  140- a1 § & &9 &1 ¥&o ‘0’ (B) ¥R & aafeq
‘0’ individual have? # UIY o &7
(1) Aantigen (1) v &S
(2) Bantigen (2) 4r ¥dre=
(3) Aand Bantigen (3 T e & e
(4) Neither A nor B antigen @ Far v R T E E EeE
141. Following can determine both the sex in a 141 /1 gRT 9ifd® i /ged W ST ¥R &
biological stain - o @1 iR foar s 9@ € —
(1) MN system (1) . gsia
(2) Mitochondrial DNA (2) AgeIpif~gdd SLEIE
(3) Y-STR @) Y-tgElamR
(4) Amelogenin 4 wiefE
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142.

143.

144.

Match List-1 with List-Il and select the correct
answer by using the code given below the
lists —
List-l
(A) Benzidine test
(B} Polymorphic enzymes
(C) Secretor
(D) Ouchterlony technique
List-ll
(i) Immunodiffusion
(ii) ABH substances
(iii) Catalytic tests
(iv) Individualization
Code -
(1) A-(iv), B-{i), C-(ii), D-(iii)

(2 A-(iii), B-{i), C-(iv), D-(ii)
(3) A-(iii), B-{iv), C-{ii), D-{i)
@ A-(iv), B~{iii}, C-(i), D-(ii)

Following is known as the “Veerappan of the
North” (the notorious tiger poacher) -

(1) Sansar Chand from Bharatpur

(2} sagar Chand from Alwar

(3) Sansar Chand from Alwar

(4) sagar Chand from Bharatpur

Following is the application of Cytochrome “B”
gene -

(1} Identification of mammals

(2) Identification of wildlife species

(3) Identification of plant species

142,

143.

144.

T 31 -1l § e &) aen gial @

S s o § 9 98 o ford —
T

(A) IS TET

(B) Uil UosH

(C) s

(D) ST Ay
Il

(i) wfcRET e

(i) Caug. garf

(iii) SORSE T

(iv) TaiERoT

S —

(1) A-(iv), B-(i), C-(ii), D-{iti)

() A-(iii), B-(i), C-(iv), D-{ii)

(3 A-(iii), B-(iv), C-{ii), D-(i)

(@ A-(iv), B-(iii), C~{i), D-(ii)

= 31 SRl &1 IRGT” HE W@T B (G
TR HigeR) —

(1) ¥oREs TRagE ¥

(2) ArRET AR |

(3) TOREE oER 9

4 WFRE RAR ¥

aigemE “q NN P R e § —

(1) wWEEN S yg=H

(@ TSy goIfa @ TeaE

(3) UIgy Wi @ g

{4) Identification of insects (4) @i I Y
145. The Wildlife Protection Act, 1972 wasamended  145. g7 Gijq dxeyor sifeifaas, 1972 &1 oeE =1
in the following year - a9 3 B3N —
(1) 2000 (1) 2000
(2) 2001 (2) 2001
(3) 2002 (3) 2002
{4) 2003 (4) 2003
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146.

147.

148.

Match list-] with list-1l and select the correct
answer by using the code given below the
lists ~
List-l
(A) Genetic markers
(B) Hunting
(C) Genetic linkage
(D) Taxidermy
List-ll
(i) Wildlife offence
(i) DNA analysis
{iii) Trophy
{iv) Microsatellites
Code -
(1) A-(ii), B-(iii), C-(iv), D-(i)
(2) A-(iii), B-(1), C-(ii), D~(iv)
(3@ A-(ii), B-(iv), C-(i}, D-{iii}
@) A-(iv), B-(i), C-(ii), D-{iii)

Arrange the following cases in chronological
order in which DNA profiling was done —

(a) Identification of Tsunami victims

(b) Ghana immigration case

{c) Rajiv Gandhi assassination case

{d) Paternity dispute, Kerala (Talseri District)
(e) Nithari case

Codes -

(1 (b), (d), (c), (a), (e)
@ (d), (a), {b), (c), (e)
@) {b), (d), (a), (e), (c}
@ (c), (b), (a), (d), (e)

Following person in US was convicted and
sentenced to prison for 22 years hased on DNA
evidence -

(1) Tommie Lee Andrews

(2} Timothy Spencer
(3) Kirk Bloodsworth
(4) Robert Melia

146.

147.

148.

I BT G-Il I B e e gl @

AN cifrg o ¥ 9 I8 o= g —
-

(A) ITaIRE s

(B) RI&R &%

(C) I aiRs S/

(D) =TGR
-

(i) T=Ieig e

(i) ST, Rzemo

(it} SIot

(iv) TIgFcaEed

TS —

(1) A-(ii), B-{iii), C-(iv), D-(i)

(2} A-(iii), B-(i), C-(ii), D-(iv)

(3) A-(ii), B-(iv), C-(i), D-{iii)

@ A-(iv), B{i), C-(ii), D-(ii)

fefaRaa &l B Brargpiae 9§ FaRed

B RO ST AT 3 5 o —

(a) GAFT B & vl B R

(b) NI STHETES HehRoT

(c) Telig T EAIHIS

(d) i faare, @ ([@EHR S9UR)

{e) Mo wie

TS —

(1} (b), {d), (c}, (a), (e)

) (d), (a), {b), (c), (e)

(3) {b), (d), (a), (e), (c)

@) (c), (b), (a), (d), (e)

RS § ST 9 P IR R FE @0

2a§ $g B wor e w© —

(1) S o T

(2) fearel 9=

() fre <rguad

@) e Aferr
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149.

150.

A novel DNA sequence is patentable if -
(1) Only nucleic acid molecular structure is

disclosed

(2) One specific, substantial and credible utility
is disclosed

(3) Two specific, substantial and credible utility
are disclosed

(4) Minimum five specific, substantial and
credible utility are disclosed

India joined the World Trade Organisation

(WTO) and became a signatory to the Trade —

Related aspects of Intellectual Property rights

(TRIPS) agreement in the following year-

149,

150.

T ¢ SIUAY. Qadd o U {3 o waar

s afk —

() 7= Yfdeiss RIS & 3ges G 6
o o o 8

@ s iR, daweme @ Reawg
TUAIRRT ST G & o §

@) &1 ffre, wdvere wur RAwaws
SHAIR, & G fhar s 8

@ o uim e, <ddmese e
fazaa- SwIRidr, &1 garaT f&ar e
2

= 9§ # W o€ de SivTHRaRE
(s dtat) # wmffer gem den fow el
(g Reics THFRY v gtoagerd UiUdT
UScH TRIPS) & SEREHAT a1 —

(1) 1856 (1) 1856

(2) 1970 (2) 1970

(3) 1995 (3) 1995

(4) 2016 (4) 2016
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